Exam 2b Calc 2 3/4/2011

Each problem is worth 10 points. For full credit provide complete justification for your answers.

1. Evaluate Isin59d9.
=3 s‘nlﬁ + ccf 10

=
\! (\-(.0519\ She e : %
; Sin'® = |- ced 6

=1 \‘(I—-uz\l ) olu
-5 <0

w:s Ccosg@

dw: ~Swm @ de

LV oy dex e

oS /
=Vl it i g /&j

ﬂ(‘-"'%us ¥ %l— us\ $C

- o r § 5 ) 5
= i cGs + - =
& 3 s O : <SS 8 +C \




Ak L/L-‘Q‘xf‘
ol Jo
Arsae = Ay gﬁmtu\cig\ (Use Uins \09\

- m)é 16




7 prfial  fackony

3. Evaluate jm .
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4. Find the present value of an income stream of $2000 per year for a period of 10 years, if the
continuous interest rate is 7%.
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5. Find the median of the probability density function p(f) = ;
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6. Find the length of the curve y = In(1 — x?) for 0 < x < %.
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. Bunny is a Calculus student at Enormous State University, and she’s having some trouble.
Bunny says “Ohmygod, this is sooooo impossible. These integrals are crazy, and even once
they said we could use the table it’s still so confusing. There was this one on the test, and we
were supposed to integrate tangent, right? So I found Line 75 on our table, it’s the same
book as you guys have, and Tused if, and so there was 0 in the bottom of the fraction and I

.....

what?”’

Explain clearly to Bunny what limitations the Table of Integrals might have that affected her,
and how she might have used it better.

‘ s : vi=—2.

\M‘L7g XS ok Smy\_“u&\k: \B—:\va‘ U\-—»S 'EO\WI L»\C;w\
W& losks [tea © on sdve o\l prbloms D‘F S
N Con be o wamber Bk Shat's vk xwie
e =\ ;,;':r\ dees AU oxst. Ko Apesn! M
Ang. "i‘m“t%s—o\ dnesn' +  extst, L WS% Aok RS
Suvextow (e 1) dogs st ogply . (£ Brmy

nses \w& [ msv=od . UMWk TS
R o= ’ y e K

o

g exveck QS LN :
RN BN \)&7“5 MW@. A 2
Losic. €2 el MMQ\U\%& ®

hone , /

A B .
LT low S O-V\D)\ \‘W\*Cﬁ{ gﬁféﬁ/ s

Pag O 5{/

mportant— 4
£



8. Evaluate Itan"ﬁ’ sec’ 0d0 .
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9. Derive Line 30 on the Table of Integrals.
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10. Jon wants to build the world’s biggest barrel. It will be shaped like the region obtained by

rotating the area below y = x*/10 between x = -20 and x = 20 around the x-axis. Find the
surface area of Jon’s barrel.
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